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QUESTION 1

When using a Blend, what is the color of tick-mark on the primary and secondary data sources respectively?

A. Red, Blue
B. Orange, Blue
C. Blue, Red
D. Blue, Orange

Correct Answer: D

When using a Blend, the primary data source appears with a BLUE tick-mark and the secondary data source appears

with a ORANGE tick-mark. See below:

& CoffeeChain Query+ (Sample ...
|_@Sample - Superstore

Reference: https://www.tutorialspoint.com/tableau/tableau_data_blending.htm

QUESTION 2

Which of the following returns the Absolute Value of a given number?
A. ABS(Number)

B. CEILING(Number)

C. FLOOR(Number)

D. ZN(Number)

Correct Answer: A

From the official Tableau website: Reference: https://help.tableau.com/current/pro/desktop/en-
us/functions_functions_number.htm
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Function

ABS

CEILING

FLOOR

https://lwww.pass2lead.com/tds-cO1l.html
2023 Latest pass2lead TDS-C01 PDF and VCE dumps Download

Syntax

ABS (number )

CEILING(numbex)

FLOOR (number )

IN(expression)

TDS-CO01 PDF Dumps | TDS-C01 VCE Dumps | TDS-C01 Study Guide

Description

Returns the absolute value of the given
number.

Examples:

RBS(-T7) =7

ABS ([Budget Variance])

The second example returns the
absolute value for all the numbers

contained in the Budget varianee field.

Rounds a number to the nearest

integer of equal or greater value.

Example:

CEILING(3.1415) = 4

Rounds @ number to the nearest

integer of equal or lesser value.

Example:

FLOOR(3.1415) = 3

Returns the expression if it is not null,
otherwise returns zero. Use this
function to use zero values instead of
null values.

Example:

IN([Profit]) = [Profit]
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QUESTION 3

Which mark type is used in a highlight table?
A. Area

B. Square

C. Polygon

D. Text

Correct Answer: B

https://help.tableau.com/current/pro/desktop/en-us/buildexamples_highlight.htm

QUESTION 4

To connect Tableau to a CSV data source what type of connection should you use?
A. Spatial

B. Excel

C. Text

D. JSON

Correct Answer: C

Tableau recognises a CSV file as a TEXT file, and therefore it is the correct option. The following are the steps to import
a CSV file: 1) From the data connection screen, click on Text:
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Tableau Server

Microsoft Excel
Text file
JSON file

PDF file

Spatial file

Statistical file

More...

2) Choose the appropriate file, and click Open:
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g

W Datasets_test3 -5 Q Search

. athletes.csv

CoffeeChai...e Chain).csv
cwurData.csv

athletes.csv
CSV Document - 765 KB

Tags
Created 19 September 2019 at 3:44 PM |

All Text Files (*.txt *.csv *tab *tsv)

otions Cancel m

3) Finally, Tableau imports the data as shown below:

e 2 Wo

[Z1= athlotes Cannsction tilters
@ Liva Escract @ | Adc
Conneclicns Add
athleses
il gthletescsv
Fllss A
Uze Deta Irlerpreter
Deia Irfe-prede- might be eble to
e yoar Tea k1l wocek Lsohs.
A athletes.cav
T CoHesGrain (. ee Chain).osy B = Sorlelds | Jale surseorde - Sl Aliases Shom bk e Tekls | 2007 - TS
T cwurDeta csv
+ b ase abe =] ¥ % abr = S 4+ #
i . mirdeten e ethet=acn fhlz:es s, attatea =y, a#hiebescas sbhet=mcx sthetzsce letmst stiioleace thizles oo
0 Hen Unicn il . el ey . oty [ e e goll il barsmn
73011361 AJasus Garcia ESP male 1709 Z 720000 &1 atletics 2 1)
w34/ A emBhit FOR Famala RN T b — wouoy ok fencing g 1)
A3F552503  Aaron Brown CARI male 27054852 2 8E0000 79 atletics ) 0
571041435 Aaron Cook WDE mala 02014881 2 820300 80 tackwando o [}
322300 Aaron Gote MZL male 21120 il = s L ML 71 oxling @ (1]
ATIOPIFAT Aaran Roy e A5 mala PR AR © ROONON A7 triaclon s 0
265237702 Aarun Russsll LUsA, el 04/06/1953 2 020000 98 walleybell & ]
]
L!I_. Ao Waras st A22LF1dEE Aaron Younzer it male 2590500 Z y=0uou e azustics i u
PR e

S

O pata Source __.. B | 0

Reference: https://intellipaat.com/community/46338/how-to-import-csv-file-in-tableau
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QUESTION 5

Which two filter modes can you use with continuous filters? (Choose two.)
A. Multiple Values

B. Single Values

C. Range of Values

D. Special

Correct Answer: CD

RANGE OF VALUES AT LEAST AT MOST SPECIAL

QUESTION 6

How can you set the default properties of a field to Currency?

A. From the Format menu, configure the Font settings.

B. From the Data pane, configure the number format of the field.
C. From the Format menu, configure the Field Labels settings.
D. From the Data pane, configure the data type of the field.

Correct Answer: B

QUESTION 7

You have the following visualization.
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Saley

Mamth of Order Date

Where should you place a field named Region to show multiple distinct lines on the same axis?
A. The Rows shelf

B. Color on the Marks card

C. Path on the Marks card

D. The Columns shelf

Correct Answer: B

QUESTION 8
You need to invert the color intensity of a quantitative range. Which option should you use?
A. Border

B. Reversed
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C. Opacity

D. Stepped Color

Correct Answer: B

Select Reversed to invert the order of colors in the range. For example, if you want lower values to have a darker

intensity in a sequential palette, reverse the palette. For a diverging palette, reversing the color palette means swapping
the two colors in the palette, in addition to inverting the shades within each color range.

QUESTION 9

A union of two tables usually results in an
A. decrease in the number of rows

B. increase in the number of rows

C. decrease in the number of columns

D. increase in the number of columns
Correct Answer: B

From the official Tableau documentation:

You can union your data to combine two or more tables by appending values (ROWS) from one table to another. To
union your data in Tableau data source, the tables must come from the same connection.
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For example, suppose you have the following customer purchase information stored in three tables, separzted by month.
The table names are "May2016," 'ﬁunezoi?:_-," and "July2016."

TOM JRCH € ] RC )
CUSTOM | PURCHA | 5k USTOM | PURCHA |

. UsTo P . By
DAY BHITRM 'UR(,:'HA TYPE DAY
ER SES ER SES

A union of these rables creates the following single table that contains all rows from all tables.

Union

DAY CUSTOMER PURCHASES TYPE
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To union tables manually
1. On the data source page, double-click New Union to set up the union.

Sheets 2
3 July201s
B June2016
B3 May2018

A New Union

2. Drag a table from the left pane to the Union dialog box.

Union X
EE May2016 b
-]
Tables inunion: 0

3. Select another table from the left pane and drag it directly below the first table.

Union b 1
Mayz16 [
EE Jutg2016 b
BEE Junellls 2]

st | 2ppy | [

Tip: 'I'v add multiple tables to a union at the same time, press Shift or Cirl (Shift or Command on a Mac), select
the tables you want to union in the left pane, and then drag them directly below the first table.

4. Click Apply or OK to union.

Reference: https://help.tableau.com/current/pro/desktop/en-us/union.htm

QUESTION 10
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You create a visualization by first adding a measure to rows. Next, you add a dimension with 11 members to columns.

Assuming that all the dimensions have a non-zero value how many marks are in the view before and after the
dimension is added?

A. 1 before and 12 after
B. 1 before and 11 after
C. 2 before and 11 after
D. 1 before and 2 after
Correct Answer: B

Drop Sales on row ==> 1Mark - 1row by 1 column drop Segment on Column==> 3 Mark - 1row by 3 column if you drop
Sales and Segment ==> 3 Mark - 1row by 3 column

QUESTION 11

True or False: Sets can be created on Measures

A. True

B. False

Correct Answer: B

Sets are custom fields that are created within Tableau Desktop based on dimensions from your data source. They are

subsets of your data, which can be created manually or computed. Either dimensions or measures can be used to
determine what is included or excluded from a set using conditional logic, but to CREATE a set we use dimensions.
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® @
& | € = & G - I - Ly
Data g lii Colum
- Add to Sheet
P1-Airline =
C Duplicate = Rows
Dimensions Rename
Abc  Period Hide Sheet

Abc  Region
Calculated Field..

Abce  Measure

Group...

Convert to Discrete Ems... .
Convert to Dimension arameter...
Change Data Type >
Geographic Role » &
Default Properties > Size Text
Group by » W

: poltip

Replace References... MEASURE

Measures _
Describe | D"’(' [

# i —

=+  Number of Records

f
J .|_|_

=
(T
t—».

# Measure Values

Reference : https://interworks.com/blog/rcurtis/2016/10/26/tableau-deep-dive-sets-introduction-sets/

QUESTION 12

When should you use a relationship instead of a join for two data sets?
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A. To use both data sets across multiple sheets in a visualization.

B. The data sets are in two separate tables within a single spreadsheet.

C. The data sets include similar data aggregated at different levels of detail.
D. The data sets include similar data aggregated up to the highest level.
Correct Answer: C

https://help.tableau.com/current/online/en-us/datasource_relationships_learnmorepage.htm

QUESTION 13

What do the colours Blue and Green represent in Tableau?
A. Discrete and Continuous

B. Measures and Dimensions

C. Continuous and Discrete

D. Dimensions and Measures

Correct Answer: A

Important question! If you selected Dimension and Measure, don\\'t worry! It is a very common mistake. But we\\'re here
to learn aren\\'t we?

When you connect to a new data source, Tableau assigns each field in the data source as dimension or measure in the
Data pane, depending on the type of data the field contains. You use these fields to build views of your data.
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Blue versus green fields

Tableau represents data differently in the view depending on whether the field is discrete (blue), or continuous (green).
Continuous and discrete are mathematical terms. Continuous means "forming an unbroken whole, without interruption"';

discrete means "individually separate and distinet."

. B ) s ; YEAR(Order Date) : s i
o Green measures S and dimensions are vontinuous. Continuous field values are

lreated as an infinite range. Generally, continuous fields add axes to the view.

s Blue measures SRS and dimensions are discrete. Discrete values are Lreated as

finite. Generally, discrete fields add headers to the view.

Possible combinations of fields in Tableau

This table shows examples of what the different fields look like in the view. People sometimes call these fields "pills", but
we refer to them as "fields" in Tableau help documentation.

Discrete Dimensions m

Continuous Dimensions {dimensions with a data type
of String or Boolean cannot be continuous)

Discrete Measures
Continuous Measures

A visual cue that helps you know when a field is a measure is that the field is aggregated with a function, which is indicated
with an abbreviation for the aggregation in the field name, such as: EEED 1 |carn more about aggregation,

see List of Predefined Aggregations in Tableau and Aggregate Functions in Tableau.
But there are exceptions:

 Tf the antire view is disaggregated, then by definirion no field in the view is aggregated. For details, see How to

Disaggregate Data.

« If you are using a multidimensional data source, fields are aggregated in the data source and measures fields in the

view do not show that aggregation.
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Examples of continuous and discrete fields used in a view

In the example on the left (below}, because the Quantity field is s2t to Continuous, 't creates a horizontal axis zlong the

bottom of the view. The green background and the axis help you to see thar it's a continuous field.

In the example on the right, the Quantity field has been set to Discrete. It creates horizontal headers instead of an axis.

‘I'he blue background and the horizontal headers help you to see that it's discrete.

Continuous Discrete
W Coues i Comns
= Rows = fows
Quantity
$£400,000
%
“w =
$100.000
$50.000
o i 4 . 8 10 2 14 ¢
0 2 4 ¢ 2 w12 1 I ‘ I|I..l.
Quantity Z 4 & 8 10 12 14

In both examples, the Sales field is se: to Continuous. It creates a vertical axis because it continuous and it's been added to
the Rows shelf. If it was on the Columns shelf, it would create a horizontal axis. The green background and aggregation

function (in this case, SUM) help to indicate that it's a measure.

The absence of an aggregaticn function in the Quantity field name help to indicate that it's a dimension.

Dimension fields in the view

When you drag a discrete dimension field to Rows or Columns, Tableau creates column or row headers.

— W Gonmas
E Rows
Filters Category
Furniture Office Supplies Technology «— Column Headers
Abc Abe Ane
Marks
@ Automatic &.
b & o
Color Sue Tent
o2e ==}
| Detait | Teottip

In many cases, fields from the Dimension area will initially be discrete when you add them to a view, with a blue
background. Date dimensions and numeric dimensions can be discrete er continuous, and all measures can be discrete or

continuous.

After you drag a dimension to Rows or Columns, you can change the field to a measure just by clicking the field and

choosing Measure. Now the view will contain a continuous axis instead of column or row headers, and the field's

background will become green:
Pages i Gofumns
= Rows
Fitters ]
I Distinet count of Category
Mats. Continuous Axis
nl Automatic -
I T M
Color Size Labsl
0 =]

Datal | Toohip

Date dimensions can be discrete or continuous. Dimensions containing strings or Boolean values cannot be continuous.
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Reference: https://help.tableau.com/current/pro/desktop/en-us/datafields_typesandroles.htm

QUESTION 14

Create a Set containing Customer Names whose Sales are GREATER than 30,000. Which customer had the LEAST
sales in this set?

A. Tom Ashbrook B. Sanijit Engle
C. Penelope Sewall

D. Tamara Chand

Correct Answer: C

As the question mentions, we need to create a SET with the following conditions-> Choose only those customers whose
Sales > 30,000 1) Right click on customer name--> Create--> Set

Add to Sheet

Abc  Market

M Order Date Duplicate

Abc  Order ID Rename

Abc  Order Priority Hide

Abc Product ID Aliases. ..

Measures Create Calculated Field...
4 Discount Transform > Group...

+#  Profit Convert to Measure ot

4 Quantity Change Data Type > _Parameter...

2) Let\\'s Name the Set-Customer>30k ( you can name it anything you want :) ) Select USE ALL, and then move to the
CONDITION TAB:

O @ Create Set
Name: Customer>30k

S Eell Condition  Top

Select from list ~ Custom value list £ Use all
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3) In the Condition Tab, Choose BY FIELD-> Select Sales-> Sum-> Greater than 30000 , and click OK

Create Set

Name: §_Cust0mer>30k
- General Top
"~ None
© By field:
Sales Sum

> B 30000

4) You should now have a new Set in the Data Pane as follows:

Sets

€ Customer>30k

5) Drag this set to the rows shelf, and click on SHOW MEMBERS IN SET. Now drag Sales to the Column Shelf. 6) Click
on the Show Mark Labels, and Sort ascending icons as shown:
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rE Rows v IN/OUT(Customer.. ~
| " Filter...
Sheet 2 Show Filter
In/ Out of C.. Show Highlighter
" ' Sort...
S ' Format...

v Show Header
v Include in Tooltip

Show Members in Set

v Show In/Out of Set
® Edit Set...
Edit Aliases...

Edit in Shelf

Remove
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co- Mol lels | 2.6 -E;f Serdad. |v| GEeTT | 8 = ShowV
Pages jii Columns SUM(5ales)
= Hows Cistomars30k
Filters
Sheet 2
Custa—er=30k 1053
Customer>30k

Bart ot |

Mzrks Christophe- Conant

Frectopidn:

Autc matiz
alaens . Greg Tran |
. & @ Hunter _opez
Golo~ | iz | Lebel Jan= wace (I
Natalie Fritzler |

o3s 3 i

S Fenzlcpe Sewal| |
Detal | Tooltiz

anyit ol |
=2an 0ilte |
Tarrere chand |
Torr: st uss |
[k 54 pAEE] ThE A “EK ALK $54 CALE

Sales

7) Voilal We have our answer:

Customer=30k =
| Penelops Sewall | _BD.OEE
Sanjit Ergle 30,145
Huater Lopez | =0.244
e weco I -,
Fred Hapkins |, 30,401
Maralie ritzler |, -1 751
Gert watters | NN 52, 310
Sean Miller |, =5.171
Christopher Conant | NN, . 167
areg Tran |, :5.551
Termara chand | N, =757
Torr Asnbroo |, -0 468
oK 5K 10K 15K 20K 25K 30K 354 40K 45K

Sales =

QUESTION 15

What is created by a calculated field that has a formula of SUM(Sales) / SUM(Profit)?
A. A measure

B. A dimension

C. A set

D. A parameter

Correct Answer: A
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